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The 12" Hong Kong Mathematics Challenge
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1. 58-49+7?=23

A. 11
B.12
C.13
D. 14
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2. NIIM—iENVER &40 ?
Which of the following calculations has the closest
result to 40?

A. 89 - 36
B. 70 - 28
C.53-6

D. 99 - 55
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3. UF2—R-+154K - MskA7SRa MM |
&z ? ™
In a tangram below, which shape can be formed
with numbers 3 and 7?

A. 7522 Hexagon  B. Fai2f Pentagon
C. =ff Triangle D. [YiEH#2 Quadrilateral %
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O% Which of the following is not suitable to be measured oo
by step?

} ZHEEE  The width of a playground
. PIFRUERIE The length of a sofa
C. ZQEHQ.%E The height of a wardrobe
D. EEEAIRE The length of a bedroom %
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1.D
2.B
3.D
4. C



